OBEP®PE3A | GOF 130 | 3 601 FB7 000

U3ob6paxxeHue - mogen - E

3601 FB7 0K1

Is:un: } [ret&ry Fig. /Abb. 1

Anzugsmomenta

Torque values

Couple de serage

Pares de apriete

Pos.30 = 1,75 - 2,15Nm
1,35 - 1,75 Nm
1,35 - 1,75 Nm
1,75 - 215Nm
3,00 - 3,50 Nm
1,75 - 215Nm
0,50 - 0,80 Nm
1,75 - 2,15Nm
1,35 - 1,75 Nm
215 - 275Nm
1,35 - 1,75Nm
1,35 - 1,75Nm

Anderungen vorbehalten
Modifications reserved
Modifications réservées
Salvo modificaciones



OBEP®PE3A | GOF 130 | 3 601 FB7 000

U3ob6paxxeHue - mogen - E

3601 FB7 0K1

Fs?uf } [zt Fig. (Abb. 2

Sichern ml1 Loctite 603 51—
Secure with Loctite 803

57_
) %
/
Anderungen vorbehalten
Modifications reserved

Modifications réservées
Salvo modificaciones



OBEP®PE3A | GOF 130 | 3 601 FB7 000

ApTUKYRn

KatanoxxeH
HOMep

CnUCbK Ha pe3epBHUTE UaCTH

OnucaHue

13

14

19

23

24

25

26

27

28

29

30

31

32

33

34

35

36

37

39

40

41

42

43

45

77

1619 PB5 155

1619 PB5 441

1619 PB5 443

1619 PB5 247

1619 PB5 451

1619 PB5 453

1619 PB5 454

1619 PB5 414

1619 PB5 456

1619 PB5 457

1619 PB5 459

1619 PB5 154

1619 PB5 460

1619 PB5 461

1619 PB5 179

1619 PB5 462

1619 PB5 156

1619 PB5 463

1619 PB5 464

1619 PB5 157

1619 PB5 465

1619 PB5 466

1619 PB5 467

1619 PB5 468

1619 PB5 469

1619 PB5 470

1619 PB5 472

1619 PB5 473

1619 PB5 474

1619 PB5 475

1619 PB5 476

1619 PB5 478

1619 PB5 509

KOPMYC HA MOTOP

KOMMNEKT NOMKOCHA OBYBKA
50-60Hz

KOTBA 220-240V, 50-60Hz
MYCKOB KMoy

3AXPAHBALLL KABET
2x1.0mm2 VDE 3.0m

HAKPAMHWK 3A KABET
3AKAUATIKA
TABEJKA GOF 130
CAUMEH NATEP 608-27
CAUMEH TATEP 6002-2RS
BUHT 3.5x16

3ALEH KAMAK

OBTATALLA MPYXXMHA
N3OMALIMOHEH KAMAK
ENEKTPOHMKA
MNATKA - YNIPABIEHWUE
KAMAK HA OPBXKA
BUHT M4x10
BUHT
KAMAK HA OPBXKA
BUHT

NMPYXXUHA
LEHTPOBALL, BONT
XEBEN

BUHT

BUHT

ONdY3bOP

NATEPHA BTYNKA
BUHT M4x10
NMPECOBAHA MNOYA
MOONOXHA LUAMBA

BUHT 4.2x25

PEOOBA KNEMA

U3obpaxeHue

ASI HO5VV-F

220~240V 50~60Hz



OBEP®PE3A | GOF 130 | 3 601 FB7 000 3

CnUCbK Ha pe3epBHUTE UaCTH

ApTukyn KatanoxxeH OnucaHue U3obpaxkeHune
HOMep

79 1619 PB5 415 Etuker

808 1619 PB5 410 TABENKA

810 1619 PB5 455 UETKWU-KOMMNMEKT

816 1619 PB5 458 UETKOObPXKAY
44 1619 PB5 477 BWHT C MEPYATKA
46 1619 PB5 158 OUCNNEN CET
a7 1619 PB5 479 YNNBbTHEHUE
48 1619 PB5 480 OrPAHWUYUTENEH NPBCT
49 1619 PB5 481 NOONOXHA LUAMBA
50 1619 PB5 482 BOLELL, OTPAHUUUTEN
51 1619 PB5 483 CMELMATMHA TAVKA
52 1619 PB5 484 OrpaHuunUTEN-BUHT M5x40
53 1619 PB5 485 CIMWPAYEH NOCT
54 1619 PB5 486 3AOEH KAMAK
55 1619 PB5 487 CIMUPANHA MPYXXUHA
56 1619 PB5 488 OMOPA
57 1619 PB5 489 BUHT M4x18
59 1619 PB5 493 lohpupaHa Tpbba
60 1619 PB5 494 CTMWPANHA MPYXMUHA
62 1619 PB5 496 BUHT M4x5
63 1619 PB5 497 MPYXWHEH NPBbCTEH
64 1619 PB5 152 KANMUBbP
65 1619 PB5 498 KAMCYNA
66 1619 PB5 499 CIMUPANHA MPYXXUHA
67 1619 PB5 500 MNPEANA3UTEN
68 1619 PB5 151 OCHOBA
69 1619 PB5 501 CIMUPANHA MPYXXUHA
70 1619 PB5 502 OMOPHA MMNACTHUHA
71 1619 PB5 503 OCHOBEH MnoT
72 1619 PB5 504 BUHT
74 1619 PB5 506 BWHT C MEPYATKA
75 1619 PB5 507 CTMWPANHA MNMPYXMHA
76 1619 PB5 508 HAKNAOKA
78 1619 PB5 510 BUHT M4x8



OBEP®PE3A | GOF 130 | 3 601 FB7 000 4

CnUCbK Ha pe3epBHUTE UACTHU

ApTukyn KatanoxxeH OnucaHue U3obpaxkeHune
HOoMep

80 1619 PB7 042 CMUPATTHA MPY>KMHA 2
653 1619 PB5511 MAPANENEH OFPAHUUNT 2
654 1619 PB5515 BO[ELLIA MNATKA 2
655 1619 PB5521 Bb3AYXOBOA 2
656 1619 PB5 522 BOMELLIA MNATKA 2
657 1600 A02 28G MOHTAXEH KIHOY 2
658 1619 PB5 523 CPE[IHO CTbINANO 2
661 1619 PB5 492 FTAMKA+UAHTA & 6mm 2
662 1619 PB5 491 FTAMKA+LUAHTA @ % Inch 2

663 1619 PB5 490 TAMKA+LIAHTA @ 8mm 2



